UNIT 2: POWERS AND ROOTS

Exercise 1: Work out:

. She
a) (=577 = b | —| = o) (-3)7 =
b 6 J
i _lwl—l I.#l'w.l—i
d) 37 = eh[T = N3] =
) -y

Exercise 2: Work out:

a) I[;'c_?-;ac3 \_l:{x'] -x'1)= b) (2*-27H- (2727 = c) [:w'j-w'j):(w" :u-’wj:

d) (x'-x7):(x":xM) = e) [:3'1-3'3}:[:3-3'5 )= f) (_Jr:-x's}-[:x'T :x"‘;'}:_a:_1 =

g) (2-27):(2:2) = h) (x7x) ()7 = i) ()t =
Exercise 3: Work out:
. 710 317 53 -1 B . xs,ysf,},_x-z B : PRI T B

25 3= 9l 300 xa_}lv 2 Zba B

Exercise 4: Write the following numbers using scientific notation:
a) 314159265358979323846264338327950 =
b) G.GGGGGGGE?IEESISESS =
c) 853.794-10” =
d) 0.0032864-10" =
e) 42835.729-10° =
f) 4672314.25-107 =
g) 0.00016234-107 =
h) 345.7865 - 10° =

Exercise 5: Write the following numbers using scientific notation:
a) The Earth's mass: 3973600000 000000000000000 kg.
b) The mass of an electron: 0000000000000 000000000000000000911 ke .
c) 301000000000 000000000000 molecules in a gram of hydrogen
d) The distance between Earth and Marsis 78 339 804.97 km

Exercise 6: A person’s hair grows at a speed of 10~ m/s. If they don't cut it, what it would be its length
a month later?

Exercise 7: The poliomyelitis virus has a diameter of 3.2-107 m. How many viruses could | place in a five
kilometers distance? (and do not ask why)



Exercise 8: Work out:
a)5.3-10"-12-10"+7.2-10° =
b) 2.89-107 -3.17-107% +7.89-10° =
€) 9.25-10% -3.14 - 10° +2.71 - 10" =
d)3.74-10° +83-10" -1.63-10° =
g) —2.15-107° +4.29-107 -748-10"° =

Exercise 9: Work out:
a) 5.12-10* —4.37-10° +1.83-10" =
b) —3.51-107 +7.92-107 -5.84-107° =
) 2.51-10* =7.43-10° -8.31-10" =
d) 5.84-1074+5.13-10° +7.9-107° =

Exercise 10: Work out:
a) (7.35-10%)-(7.15-107) =
b) (4.12-107)-(7.35-10%) =
c) (4.4810°):(9.05-107%) =
d) (3.72-107%):(9.4-107) =
e) (5.64-10"):(795-107) =

Exercise 11: Work out:
a) (7.38-107)-(4.72-107)
b) (3.57-10%)-(5.71-107™) =
c) (2.37-107):(7.94-107) =
d) (3.2-10°):(6.47-107) =
e) (4.75-107)-(3.17-107) =

Exercise 12: Simplify the following roots:

a) /151200 = b) +/ 1024 =
DN
d) 4 =
“.l

g) 625000 =

Exercise 13: Work out:

a) 300 =527 +7.f48 =

b) 34/32 =927 + 5243 +,J75 =

¢) 3427 =932 - f75+2 =

d) 3 —827 + 7243 - 27 +5.75 =

) 162 —2.f175 +5-/128 —+f343 =

c) 4291600000 =

; 214_321_?33 B
54_1143

f)
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Exercise 14: Work out:

a) 345 +3420 =
c) B +4-/18 =50 =

Exercise 15: Work out:

a) 3B =

. 3]33 53477237

J5+_315

Exercise 16: Work out:

) ‘\/23 _5-2__{5!!2-5,:,-1 B

9 #2-3 . 35 ] _.313-1_ 25
y2-3

Exercise 17: Express as a radical:

=

a) 57 =
d) x5

e) a’l =

b) 27 —34/12 =
d) 40 +23135-54f320 =

fl " =



Exercise 18: Work out and express as a radical:
a) U2 q2E 74 _

by 737777 -7 -7 =
d) Va* Ja:a" =
2[;?

Exercise 19: Work out and express as a radical:

a) b-a"? -5 g1 =

e, I
{I:I 313 -j:" _3::.!5_]].10 —

d] 2?5_5]3_2—54_5—35=
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